P]_pe]_]_n e_KP ]_ 2_2_5 . ]_m]_ Producer Consumer Nodel Node2 observer
G ted by IMITATOR 3.1 "Cheese Artichoke"
e Y B ild: HEADjec22dec [prodReady d>= Xprod] (consReady d>= xcons] (nodelReady d>= xnodel] (nodeZReady d>= XDOdGZ] [waiting 5>= Xtotal]
Generation time: Fri Jul 23, 2021 10:20:04 X
|
|
xprod >= c| xprod >= a XCons >= c| xcons >= a xnodel >= ¢ xnode2 >= ¢ !
Feed?2 ProdReset Feed4 ConsReset Feed?2 Feed3 :Xtotal =5
xprod := 0 | xprod := 0 xcons := 0 | xcons := 0 xnodel := 0 xnode2 := 0 :
|
Initial :
5 clocks | 6 parameters a>=0 [
&b>=0 :
&c>=0
&d>=0 !
xprod a &e>=0 prodWaiting | b >= xprod consWaiting | b >= xcons intermediatel | f >= xnodel intermediatel | f >= xnode2 finished | True
Xn%c(i)el b &i>=0
C & xprod =0
xnode2 d & xnodel = 0
xtotal f &ézxélcoodr?sz:OO
& xtotal = 0
xnodel >=¢e xnode2 >= e
NodelProcessl Node2Processl1
xnodel := 0 xnode2 := 0
[intermediateZ f>= Xnodel] [intermediateZ f>= Xnode2]

xnodel >= e
NodelProcess?2
xnodel := 0

v

Node2Process?2

xnode2 >= e

xnode2 := 0

xnodel >=c xnode2 >=c
(intermediateB f>= Xnodel] Feed3 (intermediateS f >= XIlOdGZ] Feed4
xnodel := 0 xnode2 := 0
xnodel >= e xnode2 >= e
NodelProcess3 Node2Process3
xnodel := 0 ‘ xnode2 := 0
[intermediateél f >= xnode 1] [intermediateél f >= Xnode2]
xnodel >= e xnode2 >= e
NodelProcess4 Node2Process4
xnodel := 0 xnode2 := 0
(intermediateS f >= xnode 1] [intermediateS f>= XnodeZJ

xnodel >= e
NodelProcessb
xnodel := 0

(send

d >= xnode 1)

xnode2 >= e
Node2Process5
xnode2 := 0

(send

d>= XnodeZJ




